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. (20%) Find [ =? Ic=? g =? Ve =? 0=0.98, @ = ﬁ
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10 uF

3. (20%) For the value C;;s=8pF, C.ss=3pF,

and g,=6500uS,

(1) the voltage gain at midrange

(2) the input critical frequency of
internal capacitance

(3) the output critical frequency of
internal capacitance

(4) show the high frequency response of
the amplifier with Bode plot
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4. (20%) Determine the V, of the figures .
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5.(20%) A common-source amplifier is as shown. Find Ip and the ac output voltage. Assume Ip(en),=200mA,
at Vgs =4V, Vs =2V, and g=23mS. Vi, =25mV.
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